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1 Introduction 
RAN2 #66bis had discussed the “exclusion zone” around macro[2]. To our understanding, the “exclusion zone” means that, there’s home-cell around macro cell, UE can’t handover to the home-cell because the home-cell SNR is below the macro cell SNR. It’s some kind of problem in measurement report. It is found similar problem occurs to performing measurement. This document try to clarify what the problem is and solution to its.
2 Discussion
In the current specification[1], in order to limit performing measurement, UE just performs measurement if s-Measure is not configured or s-Measure is configured and the serving cell RSRP, after layer 3 filtering, is lower than this value. That means, if s-Measure is configured and the serving cell RSRP is equal to or higher than this value, UE won’t perform the measurement. 
As shown in figure 2.1. There’s one HeNB which is much near the macro eNB. When UE moves near the HeNB, the macro cell RSRP is much higher. If macro cell RSRP is higher than s-Measure, UE won’t perform the measurement and can’t detect the home-cell. So it’s useful to differentiate home-cell in terms of performing measurement.
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Figure 2.1
It’s well known that home-cell can improve network capacity and further provide less cost billing policy, therefore it will prefer to handover to home-cell when UE enters home-cell coverage.  In order to achieve this purpose the performing condition of the home-cell should be relaxed. In current specification s-Measure is configured for all frequencies and both macro cell and home-cell. So it is impossible to just configure a higher s-measure.
To be simple, we can separate the s-Measure for macro cell and home-cell. That’s, introduce a new s-Measure, called s-Measure-homecell, it’s for home-cell. s-Measure-homecell is hihger than s-Measure normally which is for macro cell.
As shown in figure 2.2. At T2, serving cell RSRP is equal to s-Measure, and at T3, serving cell RSRP is equal to s-Measure-homecell. s-Measure-homecell is higher than s-Measure. UE will perform measurement like this: 

From T1 to T2, UE performs measurements on all types of cells(including macro cells and home cells).

From T2 to T3, UE performs measurements on home cells only.

From T3 on, UE doesn’t perform measurements.

Specially, s-Measure-homecell can be set to infinity if network wants UE to perform measurements on home cells all the time. Or, if s-Measure-homecell is not configured, UE will or will not perform measurement on home cells and macro cells at the same time. And if s-Measure is not configured, s-Measure-homecell don’t need to be configured.
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Figure 2.2
Proposal : to introduce a s-Measure-homecell for home cell only
3 Conclusion 
As described above, the followings were proposed: 

Proposal : to introduce a s-Measure-homecell for home cell only
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